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	Assignment No.  01
Semester Fall 2011
Introduction to Computing-CS101
	Total Marks:   15
Due Date: 

	Objective: To understand the fundamental concepts of computer and number systems.  
Instructions:
Please read the following instructions carefully before solving & submitting assignment:

Assignment should be in your own wordings not copied from internet, handouts or books.

It should be clear that your assignment will not get any credit (zero marks) if:
· The assignment is submitted after due date.

· The submitted assignment does not open or file is corrupt.

· The assignment is copied (from other student or copied from handouts or internet).
· Student ID is not mentioned in the assignment file or name of file is other than student ID.
For any query about the assignment, contact at cs101@vu.edu.pk
GOOD LUCK

	
	  

	Q.1. There are multiple ways to enhance the performance of a computer system. Discuss what role a cache can play in boosting up the performance of a computer system?   (5 Marks)
Answer:

Cache is simply a fast accessible memory usually made of static RAM. It provides boost up to our computing machines through its fast access. It exists between the processor and primary memory (RAM). Processor saves a copy of frequently used instructions in cache. When processor needs either instruction or data, it first checks it in the cache; if it is there then it picks that accordingly otherwise it fetches from RAM.
The case of accessing RAM (cache miss) is very costly as compared to a cache hit. The use of cache provides the facility to access frequently accessed data in less amount of time as compared to RAM. Efficient algorithms increase cache hits and decrease cache misses in order to enhance system’s performance.

Q.2. Generally there is a concept that “Memory” and “Storage” are same terms. Do you agree? Justify your opinion with a real life example.   (5 Marks)
Answer:

People often confuse the terms “Memory” and “Storage”. Normally, most of people consider them same whereas both the terms have different meanings. The term “Memory” refers to the amount of RAM installed in a computer whereas the term storage refers to the capacity of the hard disk of a computer.

Example

To clarify this common mix-up, we can compare a computer to a library that contains a book shelf and a study table. We can consider a book shelf as storage (Hard Disk) that stores all the books and we can consider the study table as memory (RAM) where we put book(s) taken from the book shelf (Storage) and keep book(s) on it for study. 

The same scenario applies on Computer Memory and Storage. In computer, the storage (hard disk) contains all the data of your computer whereas the memory keeps only the data which is being used by a microprocessor.
 Q.3. Convert the following Octal Number to Hexadecimal Number by writing each and every step of conversion process: (5 Marks)
          (53324)8 => (?)16                               
Answer:
Octal numbers to hexadecimal can be converted by different ways like octal to binary and then binary to hexadecimal, octal to decimal and then decimal to hexadecimal and in any of the case the conversion is in two steps e.g.
First Method:
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(53324)8 = (56D4)16
Second Method:

Step1: Octal to Decimal


(53324)8    = 4 x 80   + 2 x 81   + 3 x 82 + 3 x 83 + 5 x 84

(53324)    = 4 x 1 + 2 x 8 + 3 x 64 + 3 x 512+ 5 x 4096


(53324)    = 4 + 16 + 192 + 1536 + 20480


(53324)8    = (22228)10 

Step2: Decimal to Hexadecimal
16

22228
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Hexadecimal = (56D4)16
(53324)8 = (56D4)16
Note:

· Assignment should be in your own wordings not copied from net, handouts or books.

· Your answer should be “to the point”. 
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Actual Octal Value





Every octal number can be represented in 3 digits binary.





Combine all binary values





Since every hexadecimal can be represented in 4 digits binary number, so number of digits in our binary sequence must be multiple of 4.





Convert binary sequence in chunks of 4 digits. 





Write equivalent hex value of every chunk. 





Step 1: 





Step 2: 








